Basuc Problems of an Economy

., 8%151 ‘Which of the fo]lowmg state-'
‘ment is false? | _ |

(a) The Resources are 11m1ted

(b) ‘The Resources have alternatlve G

' uses

(c) Ifresources are unhrmted people-_-; iy
~ would be able to satlsfy all the1r "

wants

(d) The economlcs problem arises .
because resource has only a smgle s

'152. The central economic problem
- of an economy arises due to "

(a) Scarc1ty of resources relatlve to

the wants :

(b) Co- ex1stences of prlvate and pub
lic sector

(c) Govt 1nterference 1n economlc
act1v1t1es ' i

(d ) Federal structure of Consututlon
i [July 202 1]
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, 53 The basic problem of scar
ity give rise to:

@ Technological problems

‘(l?) Social problems

(¢) Cultural problems

(d) Economic problems

154, Which of the following econo-
_mic system has to deal with the con-
_trol problem of scarcity of resources?
' (@) Capitalist -

b) Soc'ialist‘

(c)' Mixed . ,
C) All of the above

 155. In economics, the Central eco-
pomic. problem means: ¢ -

(a) Outputis restncted to the l1m1ted
avaﬂablhty of resources.

) Consumer do not have as much
~ money as they would wish

(c) There will always be certam level
of unemployment

(d) Resolirces are not always allo-
cated in an optlmum way

156 Which of the followmg is the
central problem of economy" '

(a) Scarc1ty of resources
(b) Unemployment

{c) Poverty e
(d) Inﬂati'on‘ - o

central problem of the economy?
(@) Unemployment

() Poverty S

(¢) Scarcity of resources

A(d) Inﬂatlon o

‘ NATUREAND s(:omz OF BUSINESS ECONOMICS

; (d)‘ Where to produce?

o [June 2023].
1157 Wluch of the followmg is the -

[June 2022], :

1.19

158, The Central problem in every
economic soclety is:
(a) To ensure a minimum level of
income for every individual.

(b) To allocate scarce resources in
such a manner that societies un-
- limited wants are satisfied in the
best possible manner.
(¢) To ensure that production occurs
in the most efficient manner.

(@ To pfovide job to every job seeker.

[CA CPT June 2017]

159 ‘A developed economy uses
technique in productlon.

(a) Labour intensive.
b) Cap1tal 1ntens1ve
(c) Home-based

(d) ‘Traditional =~
' ~ [CACPT June 2010]

160 The ‘Central Economics Prob-

lem’ does not deal with which of the

following economic problems?

(@) ‘What to produce?

(b) How to produce?

~(c) For whom to produg:e? _

\ . [July 2021]
161 The central problem in econo-

e mlcs is that of

(a) Companng the success of com-
mand versus market economles

(b) Guaranteeing that production oc-
~» cursinthe mostefficient manner.

o (c) Guaranteemg a mmlrnum level

. of income for every citizen.

o (d) Allocatmg scarce resources in.

' such a manner that society’s un- -
" limited needs or wants are satis-
i-fled in the best poss1ble manner.
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120 NATURE AND SCOPE

s Which of the following refers
162. Which of !.htaofﬁggm s i
4 distribution of
# 167. Which of the following is ny,

to the sum mlﬂ!*

for the productan

goods and services
(a) Economic System
(b) Business System |

) Capitalist Economic Systen}

‘ jic System
[June 2023]

hnique

in society?

(¢
(d) Socialist Econom

%/ 163. Capital intensive tec
would get chosen in a

¥ @ Labour surplus €co

the relative price 0

: lower. -

(b) Capital surplus economy where

nomy where
f capital is

the relative price of capital is

lower.

' (c) Developed economy where tech- -

nology is better.

(d) Developing economy where tech;
nology is poor. ;

164. Which of the following is nota

part of central economic Problem?
(a) What to Produce?
(b) How to Produce?
(c) For whom to Produce?
(d) Price fixation of Production. s

165.
total of arrangements for the produc-
tion and distribution of goods and

-services in a Society, i

(@) Economic Systém '
- (b) Social System
(c) Business system
- @) Comprehensive System

166. Economic Problem érises When: :

S (a)leanrts al.'e‘ unlimitea :
(‘b)pge‘SOu;ces are limited = ”

OF BUSINESS E

refers to the sum -

'3 allocation of resources .

& Scanned with OKEN Scanner

CONOMICS

(¢) Alternative uses of resotircey

(d) All of the above
[CA CPT Dec. 200,

one of the four central questions thay
the study of economics is Suppoge

to answer? ,
(a) Who produces what? ‘

(b) When are goods produced?
(c) Who consumes what?

(d) How are goods produced?

168. The classification of economieg
into Capitalist, Socialist and Mixeq

_ is based on their:

(a) Mode of Prodﬁction, ekchange
“ and distribution
(b) Government's role in economic
~ activity.
(c) Both (a) and (b)
@) Neither‘(a) nor (b) .
169. The choice between labour
and Capital intensive techniques is

related with. b
~ (a) What to Produce?
. (b) How to Produce?

(c) For whom to P,ifo'duce?vv

(d) All of the above

Capitalist Economy

- 170. Which one of the followingis not
~ an example of capitalist economy?

g ‘ (al)-"_lap@"lhrk »

(b) Mexi_éo

' »(c') | Germany
»17 1, ';‘he capitalist Economy uses

. as principle means of
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NATURE AN

¥ itk ¢ OF BUSINESS BECONOMICS 1.21

) pemand (a) Voting done by consumers

@ Supply (b) A central planning authority
, & Consumer preferences.

() None of the above
i b - ‘) The level of profits of firms. o
. 201 77. An economy is called capitalix .\\oy '
< is giveh. A\

tl :gze 1(; ;eedom of Chmce is the advan i‘(‘:?my when
)
Right to private property

(@) Socialism , : ;
®) Capitalist 2 (b) ' Freedom of Government interfer-
(¢) Mlxed economy : : pr :
() None of the ik T EZ; f];ljeedom of business choices
. iscrimination
73.Aca ltahst [CACPTMay2019] < [Jan. 2021]
1 p economy consists of 178 A capitalist .
(a) Central planning authonty , e:ﬁ;f’;ﬁies al
- cip
b) A mechanism to decide as what, means of allocatmg resources.

how and for whom to produce " (a) D
 (a) Demand
() Both @ and ®) e e (b; | 'Szmin, ‘
(d) None of the above & c)"'EffIi)cI:)i:nc
' CY

[CA CPT May 2019] (d) Prices
‘system in which

& 174 Cfepltallst system offer ince- * 179. An economic
ptives for: . i
: all means of production are owned
(@) EfflCIGI’lt business dec151ons £ andcontrolledbypnvatem ivid uals
(b) Efficient government decisions” ‘for profit is called as?
o) Efﬁaent non-govemment deci-’ @ Free economy
| sions &l , ~ (b) Capitalist economy
@ Efﬁc1ent economlc deaswns ' (C) Normatlve economy
and/__,wﬂlbe more T | gt [June2023]
‘180. Lais'sez-Faxre economy is also

exp101tat10n

(@) Equalities, non-

()] Inequahtles, explmtatwn G known as :

. : () Explmtatlon, equahtles : '> }' (a) Capitalist, economy

(d) Non- exp101tat10n, mequahtles , (b) Socialist economy

L - [Nov. 20201 (o) Mixed economy
176. In a free market economy the (d) Commumst economy " ‘
allocation of resources is deter- S [Jan 2021]

mined by
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1 22 : NATURE AND SCOPE OF
St et ‘ offer
181. Capitalist system o .

incentives for : e

(a) Efficient business dé¢isiofl.s
(b) Efficient goverMent dec1s;ons. '
(¢) Efficient non-government deci-
sions

(d) Efficient economic decisions -

[Jan. 2021]

182. dné of the demerits Qf, ca}pltali
‘ism is that it leads to formation of

(a). Duopoly
(b) Oligopoly
() ‘Mon'opoly 5
" (d) Perfect Competitio v =
e ~ [Dec. 2021]
- 183. Pﬁée Me’chal_iism is the main _‘
. feature of which economy
(a) Capitalistic Economy
(b)) Mixed Econorfly ,
- (c) ‘Socialist Economy
(d) All of the above ol g
’ | [CA CPT Nov. 2018]
184. Profit motive is a merit of
(@) Socialism ’ 4
(b Capit_éli;sm 2 ' :
(¢) Mixed economy
. (@) None of the above :
185, Whi ' Vi
e r;hcl:; t(:llitsﬁ;hese are ‘ﬂ:‘.e fea-

188,

- (b) People do not

BUSINESS ECONOMICS

(o) (i) and (iii) -
- (d) All of these LHA
[CA qPT NOV, 2018

, 186. Which of the following ig nog

one of the features of capitalig;
economy? _ ;
(a) Right of private property
®) ,Freedom of chOice by the con,
~ sumers e
(c) No profit, No Loss motive
(d) Competition '
187. Capitalist economy solye thej,
economic problems through whic},
of the following? HEE 8y
(a) Central Planning Authority
. (b) Price mechanism
(¢) Administered Prices
(d) Voting done by customers
[June 2023)
isan economic Sys-
temin which allmeans of production

- are owned and controlled by private -
- individuals for profit. S

(a) Capitalist .

(b) Socialist

() Mixed

(d) None of the above - _ \
189. Which of the following s consid.
eredasa disadvantage of allocating
resources using the market system?

(@) Income will tend to be

distribluted.‘. ‘ € unevenly

: get goods of their
- choice. > %

- (©) Men of Initiative anq enterprise

~ arenot rewar‘de(_i.;
@) Profits will tend g4 pe 1oy,
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